B6. MATH 1500: Test #3 (Winter 2009)
Solutions

[15] 1. Find f”(x) for the following functions (do not simplify):
(@) fx)=Yx+er
(b) f(x)=(cosxNsinx)
(¢) flx)= cos(sinx)
X
d = —
(d) f(x) P

() flx)=+e="

Solution.
H

@) )= x
(b) f(x)=—(sinx)(sinx)+(cosx)cos x
(¢) f'(x)=[—sin(sinx)]cosx

2x+x)—x(2+3x7)
(2x+x')

d) f(x)=

(e) f'(x)= ,l— e*“tanxsecx (or f'(x)= |l pevs SIDX
Ve 2" cos” X

[10] 2. Find the equation of the tangent line to the curve defined by xy* +x°y* =6 at
the point (2,1} .

Solution.
The equation is ¥y —=1=m(x—2), where m = dy at the point (2,1).
dx
Differentiate implicitly: y* +x2 )‘? +2x° + x5y :—} =0.Put x=2,v=1 to get
X X
1+ 4 dy +4+20 @ _ 0, from where we find L J- . So the equation of the tangent
dx dx dx 24

line is _\'—l=—i(x—2).
24



